Assignment 4.5 ’_L:>

Choose the correct answer for each question- complete the Why box if there is one. ONLY evens due
day of test. Odd answers will be posted on Mrs. Young's website.

i

Of the following elements, which one would have the largest electronegativity energy?

Fluorine (F, atomic #9) WHY? {Qvﬁ A QUL (G
Cé? Bromine (Br, atomic #35) OL*WC ,Q"@—\\’Qf O w
Ci lodine (I, atomic #53) _ \
D.  Chlorine (Cl, atomic #17) xo Dpuer Qualls \O\()dé“‘vb A &

2. The elements with the largest atomic radii are found in the:
& A upper right-hand corner of the periodic table
B upper left-hand corner of the periodic table
C. lower left-hand corner of the periodic table
D lower right-hand corner of the periodic table
3. The mosths are located in the: WHY?
- N\ ;5@0 Cs QXP\DLDQOB
@ lower left hand corner of the periodic table CO A day . L h
B. upper right hand corner of the periodic table : A Ol U
C. lower right hand corner of the periodic table ( \OUJ ﬂg‘ré\&;’r(‘b(‘%o }/‘S R
D. upper left hand corner of the periodic table
4. Anions have a charge and are than the atoms from which they formed.
| A negative/larger WHY?
B. negative/smaller
C. positive/smaller
D. positive/larger
B

The Igt electronegative elements are the:

A, Melaleits Ao (el |
E) E;I)(zll{iaraitals /Qb { (CC’“V\ ¢ \/\u}; {Q\/J_Q/ S

Halogens

Jb)
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OOOC)

Given the representation of a chlorine atom, which circle might represent an atom of bromine?

comr

Circle B
Circle D
Circle C
None of these

| =
| 7. Th equired to remove an electron from an atom is known as:

B>

electron affinity
electronegativity
ionization &
radioactivity

@OO()

Given the representation of a chlorine atom, which circle might a chloride ion, CI-?

cow>

Circle B WHY?

Circle D
Circle C
None of these

9. Of the following elements, which one would have the smallest radius?

@opw

Y
Bromine (Br, atomic #35) T \\\\ ’TD \O aﬁ 9 @D
lodine (I, atomic #53) el = |

Chlorine (CI, atomic #17 Mee oy %

Fluorine (F, atomic #9)
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10. As one moves from left to right ( — ) within a period across the periodic table, the atomic radius of the
elements encountered tends to:

2
A. stay the same WHY?
B. decrease
C. increase

11. A horizontal row ( — ) of elements on the periodic table may also be referred to as a:

= family

r group

period

12. As one moves from left to right ( — ) within a period across the periodic table, the electronegativity of the
elements encountered tends to:

A. stay the same
B. decrease
C. Increase

13. Given the representation of a chlorine atom,
which circle might represent an atom of sulfur?

@ Circle D WHY? L
: Circle B
D Girdle G Ree VINE 5 o( -\/F

14. As one moves from down ( | ) a group on the periodic table, the electronegativity of the elements
encountered tends to:

A. Decrease
B. stay the same
C. Increase

15. Of the following elements, which one would have the smallest radius?

——

A. Lithium (Li, atomic #3) .
5 Boron (B, atomic #5) M J '
¢C.J  Neon (Ne, atomic #10) (D55 A W Jéiu
D. Nitrogen (N, atomic #7) = ‘ (ac L
AN (a2 T W
4 S\E\f\a\w i

Young 18




Assignment 4.5 ,‘:> 16. Of the following elements, which one would have the largest radius?

Nitrogen (N, atomic #7)
Boron (B, atomic #5)
Neon (Ne, atomic #10)
Lithium (Li, atomic #3)

—zem

|

WHY?

elements encountered tends to:

16. As one moves from left to right ( — ) within a period across the periodic table, the ionization energy of the

A

increase
(U,  stay the same

decrease
8, (

/rabu§\

17. Generally speaking, the group of elements with the highest first ionization energy is:

A. Group 1
Group 17
C. Group 16

WHY? }U(z(h%% ( ”5\(\‘&“
— SISt (3D 8
WO COLSY 4o '{QW\)Q

hMm#QMAéﬁ

18.

Given the representation of a chlorine atom,
which circle might represent an atom of bromine?

A. Circle D
He None of these
C+ CircleB
D, CircleC

encountered tends to:

19. As one moves from down ( | ) a group on the periodic table, the ionization energy of the elements

1 increase
| decrease

C. stay the same

WHY? Mote Sholls= £
| €55 @Vu@rs\{ O (OB

‘ 20. Of the following elements, which one would have the smallest ionization energy?

Neon (Ne, atomic #10)
Boron (B, atomic #5)
Lithium (Li, atomic #3)
Nitrogen (N, atomic #7)

OCOowx
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21. Cations have a M 12-

charge and are than the atoms from which they formed.

positive/smaller
negative/larger
positive/larger
negative/smaller

DQP’Q

SR 24 Y
— CA

22. Of the following elements, which one would have the largest radius?

gome

Cesium (Cs, atomic #55)
Potassium (K, atomic #19)
Hydrogen (H, atomic #1)
Sodium (Na, atomic #11)

" Which of these elements would have the lowest first ionization energy?
_________—-—'—-—-———-—-.______‘

A. Element C
B. Element A
C. Element B
D. Element D

WHY? |00 kU Values
O &

?@fwgk&;;a\@N%%Oﬂﬂ%@(ﬁlé%

24, The elements with the smallest atomic radii are found in the:

oowp

lower left-hand corner of the periodic table
lower right-hand corner of the periodic table
upper right-hand corner of the periodic table
upper left-hand corner of the periodic table

25. A vertical column ( | ) of elements on the periodic table may also be referred to as a: (select 2)

x group

r period

w % family
g
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